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Full Marks : 100
Time : Three hours

The figures in the margin indicate
JSull marks for the questions.

Answer any five questions.

1. (@ Give a comparison between Power
MOSFET and BJT. 5

(b)) What is safe operating area ? Draw the
safe operating area of a BJT.
5

(c Draw the equivalent circuit of IGBT,
MCT and SCR. 6

(d) Define the terms : latching current and
holding current. 4

Contd.



PIUCO €

‘jou JO0 snonurjuod

S] JU21INd PpeO[ IYldym puly ().

‘AYC =4 pue
‘HWG =T ‘U1=¥ : sigjowered JMoIn
peo| ‘sfi0Q9 = porrad uo ‘s”000Z=.L
porad Surddoys *‘ A0ZZ = °A 28ej[0A
2o1nos “ymoi laddoyo y-a2dA) e 104

9
a8ej10a Indino age1aAe Jo anfea mau ay)

91e[nored ‘uonjerado Aouanbaijy jueisuod
10] Ipw snomaid s)1 sawp) 21y} 0)
paseaour st 98e)[0A peo Jo yipm asind
ased uj ‘afejjoa peo| jJo ypm asmnd
o) 9ndwod ‘srig1 st Jaddoyod 103sLIAY)
Jo sup uononpuod 3y} jI ‘A099 JO
adejjoa Indno pue AQZZ JO 258)0A Op
mndur sey Joddoyd umop-days/dn-dajs v

01
Jd Aiddns oyy oyemored (M)

*10]SISa1 93 ut pajedissip jey) pue

K1o1yeq o) paniddns 1omod o) putd (@)
"AOST=d

pue J8=3¥ I0j juaLINd Furgreyo

oferoae Jo anfea 3y} puy ‘ZHOS
‘AOEZ JO 95.)j0A 30IN0S JB UR 104 (1)

D/71dMd (209 dI) €S

(0)

(4 D/71AMd (209 JI) €S

1 6

~ a 10Us A m.w

‘A[snonupuod
paay st JOS yeyy uopdwnsse 2y} UO ‘939
A ‘A YA Jo suLd) ur juaumd Fuisreyo
Jo onrea o8eroAe 9y} l1oj uoissaidxs
ue 9ALIR(T ‘T ‘61 Ul UMOUS SE ¥ J0ISISI
B ygnoiyy pagieyd s A19)jeq dp Vv

01 ‘PeOl T UYIM I911oaI
aaem-Jrey aseyd o[durs e jo Fupjiom o)
ure[dxy ¢ I9YNOaI PI[0NU0D € ST Jeym

01 ‘urerdxy ¢ osnd 9je8 aaneSou
Suisn o paurn) aq ued QLN ' MOH

14 $dOS pue
SPOIp woy sIIP DVRIL pue DVIA MOH

9
¢ p/ap ySiy pue PP ySiy
umﬁmw.w Pa399j01d 9q ued YOS U MOH

@

()

©)

@

(0)



00T S

- 19)10AUT
98pLIq-[INJ pIojpag-AeLINAO PIUIPOIN  (Q)

I91I9AU0D0[LD (D)

02=7%01 : UO S$9j0U LI0US IJLIM
0] 'Sd[] ¥ea1q ou
pue yea1q J10ys jo ursiom sy} uredxy  (q)
(0] "SdAIS Jo uopeIngyuod

2uo fiuo ureldxg ¢ SIS St 1BUM (0)

Al

"PaIapISU0d s1 juauoduiod
[ejuswepunj A[uo JI S9IpoIp .
puUe SIO0ISLIAY] JO SuIf) Uoponpuo) (a)

"10)SHIAY) yoed
Jo sjuolmd yead pue s'wrl ayl (@)

*Tomod [ejuaUrepuny Iy}
pue peo| £q paqiosqe ramod oyl

“JU2.LINO
Peo] [eljuauwrepunj JOo 3n[eA s'UI'l

— 2)e[nores
os[y -oruowwrey Yy oidn
JU2LIND peo] Joj uoissaidxs ue puld (1)

'ZHOS S! Aouanbaiy ndino ayy pue
A€ st a8e)joa yndur Op YL J1GST =0
pue qugg=7T ‘Ov=¥y JO PeOl OTH
sey J9)1oAuy a8pug-[ny aseyd I8uIs v (q)

D/73Md (209 JD) €S

¥ D/71aMd (€09 I €S

o) -98ej0a Idino I9)I2AU] aseyd
o[furs jo sisA[eue ISHUNOJ4 U} QAID)

14! "(ma)
jred up paureiqo jeyl Yim Jnsad
a1} aredwio)) “JUSLIMO PeO[ JO SM[EA
s-uri oy} puy ‘(@) jo symsax guisn ()

‘() pue (1) SHNSI ) SUISN
JURLIND PEO] JO IN[eA §'UI'X andwod (ma)
-103S1891 91 U ss0f Jomod 3} pue
J U9 19)unod peoj 3y} Aq pagiosqe
tomod o) ‘xomod ndui andwod (na)
: quaLmo Ajddns
jo anjea 9geldae 9Yj andwod (1)

“JUa.LIND pPeo|
1]} JO SOJUOULIBY PAIY) PUE PU0ISS
‘eI 9y} Jo son[ea s'w'l puy (@)

1y JI0JSHAY) SSOI0E a8e)[0A

pue P4 juaind Iporp SUlRIYMIIY

4 JuaLIND JIOISHAY} 01 JUALIND

peo[ ‘°a a8ejjoa peo] 6 reuds
o1ef Jo suO[ElIeA SN Y] YIS (1)

“quaLmo ndino

o1e)s Apeojs JO sonfea UIMUUUII
pue wnuwixeuw 373 ayndwod ()

“quaumd mdino
afe1oAe JO an[eA Yl Ie[NO[Ed m

(0)

S



